
	 	 ROWS
	1.	 a.	 Kneecap
	 	 b. Classic sandwich, for short 

(4 wds.)
	2.	 a. Nissan sedan
	 	 b. Wield the gavel
	3.	 a. Skin pigment
	 	 b. Cumulate, as interest
	4.	 a. “Jeopardy!” clue
	 	 b. More bookish, say
	5.	 a. Subway pitchman Fogle
	 	 b. Self-destructs
	6.	 a. The Tigers of the Atlantic 	 	

 Coast Conference
	 	 b. Orlando in the Baseball     

 Hall of Fame
	7.	 a. Apple product that debuted 

 in 2007
	 	 b. Lively intelligence

	8.	 a. June honoree
	 	 b. Oft-filled breakfast orders
	9.	 a. Plume
	 	 b. Extremely (2 wds.)
	10.	a. Eritrea’s capital
	 	 b. 1989 Daytona 500 winner 

Waltrip
	11.	 a. Longtime baseball 

manager Tony La ___
	 	 b. Mississippi, the ___ State
	12.	a. Gas transport on a train 

(2 wds.)
	 	 b. Typical Elvis fan, in the ’50s
	13.	a. Insisted on
	 	 b. Arab emirate

	 	 BANDS
	A.	 a. Actor Dev of “Slumdog 

Millionaire”

	 	 b. Device fitted around the 
 stomach to fight obesity 	
 (2 wds.)

	 	 c. Ridicules (2 wds.)
	 	 d. Sunrooms
	 	 e. Like trees in the early 

 spring
	 	 f. Having a handle
	 	 g. Rush-hour phenomena 

 (2 wds.)
	B.		 a. Catch in a sting
	 	 b. What’s left over
	 	 c. Reduces a sentence?
	 	 d. Mortgage holder, e.g.
	 	 e. Cut on an LP
	 	 f. Mal de mer, e.g.
	 	 g. Shaving tool
	C.	 a. Irregular Pacific cooling that 

affects the weather (2 wds.)

	 	 b. 1950s-’60s hit with the  
 lyric “Well, you made me 	
 love you woman / Now 	
 your man is gone” (3 wds.)

	 	 c. Soon, poetically
	 	 d. Cumulate
	 	 e. Eminem’s real last name

	D.	 a. Filmmaker Herzog
	 	 b. Meteorology device (2 wds.)
		 	 c. Not out (2 wds.)
	E.	 a. Baby face feature
	 	 b. Harsh
		 	 c. Mothers with broods
	F.		 a. “Again!” (2 wds.)
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MARCHING BANDS
BY BRENDAN EMMET T QUIGLEY

The words in this puzzle march around the grid in two ways. In one formation (“Rows”), words march  
across — two words for each numbered line, reading consecutively from left to right. The dividing point between 

these answers is for you to determine, except in row 7, where the words are separated by a  
black square. In the second formation (“Bands”), words march around each of the six shaded and unshaded 

bands, starting at the lettered squares (A, B, C, D, E and F) and proceeding in a clockwise direction,  
one word after another. For example, Band “A” will consist of six consecutive words (a through f) starting  

in square A and reading around the perimeter of the grid. Again, the dividing point between these  
answers is for you to determine. All clues are given in order. When the puzzle is completed, each square in the 

grid will have been used once in a Row word and once in a Band word.
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